
MATHS

BOOKS - TARGET MATHS (HINGLISH)

PLANE

Classical Thinking

1. The vector equation of a plane which is at a unit form the origin and

which is normal to the vector  is

A. 

B. 

C. 

D. 

î − 2ĵ + 3k̂

r̄. ( î − 2ĵ + 3k̂) = 1

r̄. ( î − 2ĵ + 3k̂) = √14

r̄. ( î + 2ĵ − 3k̂) = 1

r̄. ( î + 2ĵ − 3k̂) = √14

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_z8SVIb1UL5mY


Answer: B

Watch Video Solution

2. The normal from of the vector equation  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

r̄. (3 î − 2ĵ + 2k̂) = 14

r̄. ( î − ĵ + k̂) = 12
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r̄. (3 î − 2ĵ + 2k̂) = 12

3. The direction cosines of normal to the plane

r̄. (2 î − 3ĵ + k̂) + 9 = 0

https://dl.doubtnut.com/l/_z8SVIb1UL5mY
https://dl.doubtnut.com/l/_RaneHufWi422
https://dl.doubtnut.com/l/_UGdbjYcSAuka


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2, − 3, 1

, ,
2

9√14

−3

9√14

1

9√14

, ,
2

9

−3

9

1

9

, ,
2

√14

−3

√14

1

√14

4. If lx+my+nz=p is equation of a plane in normal form, then

A. 

B. l,m,n are direction cosines of normal to the plane

C. 

D. All above

Answer: D

Watch Video Solution

l2 + m2 + n2 = 1

p > 0

https://dl.doubtnut.com/l/_UGdbjYcSAuka
https://dl.doubtnut.com/l/_2hl2SjVtmnTf


5. Equation of XY-plane is

A. z=0

B. x=0

C. y=0

D. 

Answer: A

Watch Video Solution

ax + by + d = 0

6. The direction cosines of any normal to the plane XY-plane are

A. 0,0,1

B. 1,0,0

C. 1,1,0

https://dl.doubtnut.com/l/_2hl2SjVtmnTf
https://dl.doubtnut.com/l/_jKODSSuMalAe
https://dl.doubtnut.com/l/_bZKjKN0SEbBh


D. 0,1,0

Answer: A

Watch Video Solution

7. If plane  has equal intercepts on axes, then  is equal

to

A. 7

B. 

C. 1

D. 

Answer: C

Watch Video Solution

ax + y + z = 7 a

1

7

1

5

https://dl.doubtnut.com/l/_bZKjKN0SEbBh
https://dl.doubtnut.com/l/_440vUFvMePp0


8. Equation of plane passing through point (1,-1,2) and making equal

intrcepts on co-ordinate axes is

A. x+y+z=1

B. x-y+2z=6

C. x+y+z=2

D. x+y+2z=6

Answer: C

Watch Video Solution

9. The vector equation of the plane perpendicular to the vector

 and passing through a pont having position vector 

 is

A. 

B. 

3 î − 2ĵ + 3k̂

î + ĵ + 2k̂

r̄. (3 î − 2ĵ + 3k̂) − 7 = 0

r̄. ( î + ĵ + 2k̂) − 7 = 0

https://dl.doubtnut.com/l/_dOY2C1M8C2iZ
https://dl.doubtnut.com/l/_tUw5CESmtUi8


C. 

D. 

Answer: A

View Text Solution

r̄. (3 î − 2ĵ + 3k̂) + 7 = 0

r̄. ( î + ĵ + 2k̂) + 7 = 0

10. The equation of a plane passing through (0,1,-3) and having 1,2,4 as

direction ratios of normal to the plane is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

r̄. (ĵ − 3k̂) = − 10

r̄. ( î + 2ĵ + 4k̂) = − 10

r̄. (ĵ − 3k̂) = 10

r̄. ( î + 2ĵ + 4k̂) = 10

https://dl.doubtnut.com/l/_tUw5CESmtUi8
https://dl.doubtnut.com/l/_XSAshxYtOY7M
https://dl.doubtnut.com/l/_onQGk1jKkgpk


11. The equation of a plane passing through (2,-1,1) and perpendicular to

the line joining (2,3,-1) and (1,2,1) is

A. x+y+2z-3=0

B. x-y+2z+3=0

C. x-y+2z+1=0

D. x+y-2z+1=0

Answer: D

View Text Solution

12. The equation of the plane passing through (3,2,-1) and normal to the

line joining the points (2,1,2) and (4,3,-1) is

A. 2x+2y+3z=13

B. 2x+2y+z=13

C. 2x+2y-3z=13

https://dl.doubtnut.com/l/_onQGk1jKkgpk
https://dl.doubtnut.com/l/_4mtfZYYydkpZ


D. 4x+4y-6z=14

Answer: C

View Text Solution

13. The line draw from points (4,-1,2) to the points (-3,2,3)meets and a

palne at right angle at the points (-10,5,4), then the equation of plane is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

7x − 3y + z + 89 = 0

7x − 3y − z + 89 = 0

7x + 3y + z + 89 = 0

7x − y + 3z = 89

https://dl.doubtnut.com/l/_4mtfZYYydkpZ
https://dl.doubtnut.com/l/_Dnv4Vh5FJulS


14. If (1,2,-3) is the foot of the perpendicular drawn from origin on a

plane, then equation of that plane is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + 2y − 3z = 14

x − 2y + 3z = 14

x − 2y − 3z = 14

x − 3y − 2z = 7

15. The coordinate of the foot of perpendicular drawn from origin to a

plane is (2,4,-3). The equation of the plane is

A. 

B. 

C. 

2x − 4y − 3z = 29

2x − 4y + 3z = 29

2x + 4y − 3z = 29

https://dl.doubtnut.com/l/_AZUUktiCSYa9
https://dl.doubtnut.com/l/_htGWuGH4K2CW


D. 

Answer: C

Watch Video Solution

2x + 4y + 3z = 29

16. The vector eqution of the plane passing through a point having

position vector  and parallel to the vectors 

 is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

î − ĵ + k̂

2 î + ĵ + k̂  and ĵ + 2k̂

r̄. ( î − 4ĵ − 2k̂) = 7

r̄. ( î + 4ĵ + 2k̂) = 7

r̄. ( î − 4ĵ − 2k̂) = − 7

r̄. ( î − 4ĵ + 2k̂) = 7

https://dl.doubtnut.com/l/_htGWuGH4K2CW
https://dl.doubtnut.com/l/_0b261nX3M1fK
https://dl.doubtnut.com/l/_EEhMVksAOaAV


17. The equation of plane passing through (0,1,2) and parallel to the

vectors  is

A. x+2y+z+4=0

B. x-2y-z-4=0

C. x-2y-z+4=0

D. x+2y-z+4=0

Answer: C

View Text Solution

3 î + k̂ + k̂  and − î + 2ĵ − 5k̂

18. The equation of plane passing through (1,2,-1) and containg the lines

whose direction ratios are 2,1,3 and 4,1,2

A. x-5y+z+10=0

B. x-5y-z+10=0

C. x+5y+z+10=0

https://dl.doubtnut.com/l/_EEhMVksAOaAV
https://dl.doubtnut.com/l/_XIE2sG7oR9lT


D. x+5y-z-10=0

Answer: A

View Text Solution

19. The equation of the plane passing through the point (1, -3, -2) and

perpendicular to the planes  and  is -

A. 2x+4y+3z+16=0

B. 2x-4y-3z+8=0

C. 2x-4y+3z-8=0

D. 2x+4y-3z+16=0

Answer: C

Watch Video Solution

x + 2y + 2z = 5 3x + 3y + 2z = 8

https://dl.doubtnut.com/l/_XIE2sG7oR9lT
https://dl.doubtnut.com/l/_gko6wOZDEI4w


20. The vector equation of the plane

 in scalar product

form is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

r̄ = (3 î + ĵ) + λ( − ĵ + k̂) + μ( î + 2ĵ + 3k̂)

r̄. ( − 5 î + ĵ + k̂) = − 14

r̄. (3 î + ĵ) = 14

r̄. ( î + 2ĵ + 3k̂) = 14

r̄. ( î + 2ĵ + k̂) = 14

21. The equation of plane passing through the points (1,2,-3),(3,1,0) and

(0,1,1) is

A. 

B. 

r̄. ( î − 11ĵ − 3k̂) = 14

r̄. ( î + 11ĵ + 3k̂) = 14

https://dl.doubtnut.com/l/_K9bRd0FS20ze
https://dl.doubtnut.com/l/_eIUhVuo2MUNL


C. 

D. 

Answer: B

Watch Video Solution

r̄. ( î − 11ĵ − 3k̂) = − 14

r̄. ( î + 11ĵ + 3k̂) = − 14

22. vector equation of the plane passing through the points

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, − 2, 5), (0, − 5, − 1) and ( − 3, 5, 0)

r̄. (3 î + ĵ − k̂) = 4

r̄. (3 î + ĵ − k̂) + 4 = 0

r̄. (3 î + ĵ + k̂) + 4 = 0

r̄. ( î + 3ĵ − k̂) = 4

https://dl.doubtnut.com/l/_eIUhVuo2MUNL
https://dl.doubtnut.com/l/_TQgYVbZE3hDC
https://dl.doubtnut.com/l/_lh3yR6OsuXup


23. The vector equation of a plane passing through three points

 is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

î + ĵ − 2k̂, 2 î − ĵ + k̂  and î + 2ĵ + k̂

r̄. (9 î − 3ĵ − k̂) = 14

r̄. (9 î + 3ĵ − k̂) = 14

r̄. (9 î + 3ĵ + k̂) = 14

r̄. (9 î + 3ĵ − k̂) = 7

24. The equation of plane passing through (4,1,2),(1,-1,0) and origin is

A. 2x+2y+5z+10=0

B. 2x+2y-5z-10=0

C. 2x+2y+5z=0

https://dl.doubtnut.com/l/_lh3yR6OsuXup
https://dl.doubtnut.com/l/_jKRpwIWQlsFN


D. 2x+2y-5z=0

Answer: D

View Text Solution

25. Find the cartesian equation of plane passing through the points

 and .

A. 3x-4y+1=0

B. 3x+4y+1=0

C. 3x-4z+1=0

D. 3x-4y-1=0

Answer: C

Watch Video Solution

(1, 1, 1), (1, − 1, 1) ( − 7, − 3, − 5)

https://dl.doubtnut.com/l/_jKRpwIWQlsFN
https://dl.doubtnut.com/l/_N9xZidQQt887


26. The vector of the plane passing through the intersection of the

planes  is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

r̄. ( î − ĵ + 2k̂) = 3  and r̄. (3 î − ĵ − k̂) = 4

r̄. ( î − ĵ + 2k̂) = 3 + 4λ

r̄. (3 î − ĵ + 2k̂) = 3 + 4λ

r̄. [(1 + 3λ) î − (1 + λ) ĵ + (2 − λ)k̂)] = 3 + 4λ

r̄. [(1 + 3λ) î − (1 + λ) ĵ + (2 − λ)k̂)] = 3 − 4λ

27. The equation of the plane through the intersection of the planes

 and the point (1,1,1) is

A. 

B. 

C. 

r̄ ⋅ ( î + 2ĵ + 3k̂) = − 3, r̄ ⋅ ( î + ĵ + k̂) = 4

r̄ ⋅ (10 î + 11ĵ + 12k̂) = 39

r̄ ⋅ (10 î + 11ĵ + 12k̂) = 33

r̄ ⋅ (11 î + 10ĵ − 12k̂) = 46

https://dl.doubtnut.com/l/_VL7F6V2XTEIh
https://dl.doubtnut.com/l/_G3eYi1JuaNTA


D. 

Answer: B

Watch Video Solution

r̄ ⋅ (10 î + 11ĵ + 12k̂) = 23

28. The vector equation of the plane passing through the intersection of

the planes  and the point

(1,2,-1) is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

r̄. (3 î + 4ĵ) = 1  and r̄. ( î − ĵ − k̂) = 4

r̄. (11 î + 3ĵ + 5k̂) = 11

r̄. (11 î − 3ĵ − 5k̂) = 11

r̄. (11 î + 3ĵ + 5k̂) = 22

r̄. (11 î + 3ĵ − 5k̂) = 22

https://dl.doubtnut.com/l/_G3eYi1JuaNTA
https://dl.doubtnut.com/l/_dz7XDAGQKn4f
https://dl.doubtnut.com/l/_Bwb4qdkha7h2


29. The equation of the plane through the intersection of the planes

 and  and parallel to x-axis is

A. y-3z-6=0

B. y-3z+6=0

C. y-z-1=0

D. y-z+1=0

Answer: B

Watch Video Solution

x + y + z = 1 2x + 3y − z + 4 = 0

30. Equation of plane parallel to plane 2x+4y+2z=5 and passing through

the point (1,2,3) is

A. 2x+4y+2z=1

B. x+2y+z=8

C. x+2y+z=4

https://dl.doubtnut.com/l/_Bwb4qdkha7h2
https://dl.doubtnut.com/l/_tWobqC1eE4el


D. x+y+z=16

Answer: B

Watch Video Solution

31. The equation of the plane through the origin and parallel to the

plane  is (A)  (B) 

 (C)  (D) 

A. 3x-4y+5z=0

B. 3x+4y-5z+6=0

C. 3x-4y+5z+6=0

D. 3x-4y-5z=6

Answer: A

Watch Video Solution

3x − 4y + 5z − 6 = 0 3x − 4y − 5z − 6 = 0

3x − 4y + 5z + 6 = 0 3x − 4y5z = 0 3x + 4y − 5z + 6 = 0

https://dl.doubtnut.com/l/_tWobqC1eE4el
https://dl.doubtnut.com/l/_zoQXaN28XJUq
https://dl.doubtnut.com/l/_egQXj2jQDU1f


32. Equation of plane parallel to ZX-plane and passing through the point

(0,2,0) is

A. x=2

B. y=2

C. z=2

D. x+y=1

Answer: B

Watch Video Solution

33. Equation of the plane passing through (-1,3,4) and parallel to YZ-

plane is

A. y=3

B. z=4

C. x+1=0

https://dl.doubtnut.com/l/_egQXj2jQDU1f
https://dl.doubtnut.com/l/_GEgMR3LAuog8


D. y+z=3

Answer: C

Watch Video Solution

34. The equation of a plane parallel to x-axis is

A. ax+by+cz+d=0

B. ax+by+d=0

C. by+cz+d=0

D. ax+cz+d=0

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_GEgMR3LAuog8
https://dl.doubtnut.com/l/_75ZvRSjQ53sq


35. The equation of the plane passing through  and parallel to

ax+by+cz=0 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(α, β, γ)

+ + = + +
x

a

y

b

z

c

a

α

b

β

c

γ

ax + by + cz − αx − βy + γz = 0

ax + by + cz = aα − bβ + cγ

+ + = aα + bβ + cγ
x

a

y

b

z

c

36. The equationof the plane passing through the origin and containing

the line  is (A)  (B) 

 (C)  (D) 

A. x+y-z=0

B. x-5y+3z=0

= =
x − 1

5

y − 2

4

z − 3

5
x + 5y − 3z = 0

x − 5y + 3z = 0 x − 5y − 3z = 0 3x − 10y + 5z = 0

https://dl.doubtnut.com/l/_FsXoCl7l85qG
https://dl.doubtnut.com/l/_OHl755JxlbSC


C. x+5y-5z=0

D. 2x+5y-6z=0

Answer: B

Watch Video Solution

37. The equation to the perpendicular from the point  to the

plane  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(α, βγ)

ax + by + cz + d = 0

a(x − α) + b(y − β) + c(z − γ) = 0

= =
x − α

a

y − β

b

z − γ

c

a(x − α) + b(y − β) + c(z − γ) = abc

= =
x − a

α

y − b

β

z − c

γ

https://dl.doubtnut.com/l/_OHl755JxlbSC
https://dl.doubtnut.com/l/_cKZOo0jQMiXW
https://dl.doubtnut.com/l/_KAUymVocXwTw


38. Equation of the line passing through (1,1,1) and perpendicular to 2x-

3y+z=5 is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

= =
x − 1

−1

y − 1

1

z − 1

1

= =
x − 1

1

y − 1

3

z − 1

2

= =
x − 1

3

y − 1

3

z − 1

1

= =
x − 1

−1

y − 1

1

z − 1

1

39. The equation of the line passing though the point  and

perpendicular to the plane  is :

A. 

B. 

C. 

(1, 1, − 1)

x − 2y − 3z = 7

= =
x − 1

−1

y + 1

2

z + 1

3

= =
x − 1

−1

y − 1

−2

z + 1

3

= =
x − 1

1

y − 1

−2

z + 1

−3

https://dl.doubtnut.com/l/_KAUymVocXwTw
https://dl.doubtnut.com/l/_TKUUYUZfGDeO


D. 

Answer: C

Watch Video Solution

= =
x − 1

1

y + 2

−1

z − 3

−1

40. Equation of a line passing through point (1,2,3) and perpendicular to

YZ-plane is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 1

1

y − 1

1

z − 3

0

= =
x − 1

1

y − 2

0

z − 3

0

= =
x − 1

0

y − 2

1

z − 3

1

= =
x − 1

0

y − 2

0

z − 3

1

https://dl.doubtnut.com/l/_TKUUYUZfGDeO
https://dl.doubtnut.com/l/_okY7YoaPH5gI


41. Equation of a line passing through point (1,2,3) and parallel to XZ-

plane is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

= =
x − 1

a

y − 2

0

z − 3

0

= =
x − 1

0

y − 2

b

z − 3

c

= =
x − 1

a

y − 2

b

z − 3

0

= =
x − 1

a

y − 2

0

z − 3

c

42. Equation of the line passing through  and parallel to the

plane  is

A. 

B. 

C. 

(1, 1, 1)

2x + 3y + z + 5 = 0

= =
x − 1

−1

y − 1

1

z − 1

−1

= =
x − 1

1

y − 1

3

z − 1

2

= =
x − 1

3

y − 1

2

z − 1

1

https://dl.doubtnut.com/l/_xXMxw9kJ7goy
https://dl.doubtnut.com/l/_1PnSr2tE6i6t


D. 

Answer: A

Watch Video Solution

= =
x − 1

1

y − 1

2

z − 1

1

43. The value of 
such that 
 lies in the plane 


is
a. 7 b. -7 c. no real value d. 4

A. 7

B. -7

C. no real value

D. 4

Answer: A

Watch Video Solution

k = =
x − 4

1

y − 2

1

z − k

2

2x − 4y = z = 7

https://dl.doubtnut.com/l/_1PnSr2tE6i6t
https://dl.doubtnut.com/l/_40TUSQQOkS5d


44. The angle between the planes 

 and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

→
r . (2 î − ĵ + k̂) = 6

→
r . ( î + ĵ + 2k̂) = 5

π

6

π

4

π

3

π

2

45. The angle between the planes x+2y-3z+5=0 and 4x+y+2z+3=0 is

A. 0

B. 

C. 

π

4

π

3

https://dl.doubtnut.com/l/_o7VEQCYp8Xeo
https://dl.doubtnut.com/l/_2auK81mHvlQC


D. 

Answer: D

View Text Solution

π

2

46. Two planes  are parallel if

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

r̄1. n̄1 = p1  and r̄2. n̄2 = p2

n̄1. n̄2 = 1

n̄1. n̄2 = 0

n̄1 = λn̄2

n̄1 − n̄2 = 0

47. If the angle between the normal to the planes is , then
π

2

https://dl.doubtnut.com/l/_2auK81mHvlQC
https://dl.doubtnut.com/l/_TGQiLROFCOmW
https://dl.doubtnut.com/l/_V9P3DaLKHiaT


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

n̄1. n̄2 = 1

n̄1. n̄2 = 0

n̄1 = λn̄2

n̄1 − n̄2 = 0

48. If planes  and  are

perpendicular, then

A. 

B. 

C. 

D. 

Answer: B

ax + by + cz + d = 0 a' x + b' y + c' z + d' = 0

aa' + ′ + ' + dd' = 0

aa' + ′ + ' = 0

= =
a

a'

b

b'

c

c'

+ + = 0
a

a'

b

b'

c

c'

https://dl.doubtnut.com/l/_V9P3DaLKHiaT
https://dl.doubtnut.com/l/_65n2VyAUknqT


View Text Solution

49. In space 2y+3z=0 represents

A. a plane passing through X-axis

B. a plane passing through Y-axis

C. a plane passing through Z-axis

D. none of these

Answer: A

View Text Solution

50. The angle between the line 

and the plane  is

A. 

B. 

r̄ = (2 î + 3ĵ + k̂) + λ( î + 2ĵ − k̂)

r̄. (2 î − ĵ + k̂) = 4

sin− 1( )
1

3

sin− 1( )
1

6

https://dl.doubtnut.com/l/_65n2VyAUknqT
https://dl.doubtnut.com/l/_HyI74ocWyn88
https://dl.doubtnut.com/l/_a0kbIgz8lhAI


C. 

D. 

Answer: B

View Text Solution

π

3

π

4

51. The acute angle between the line

 and the plane  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

r̄ = (3 î − ĵ − k̂) + λ( î − ĵ + k̂) r̄. (3 î − 4k̂) = 4

sin− 1( )
1

5√3

sin− 1( )
−1

5√3

cos − 1( )
1

5√3

cos − 1( )
−1

5√3

https://dl.doubtnut.com/l/_a0kbIgz8lhAI
https://dl.doubtnut.com/l/_u3ZxYfDkc6OQ


52. The angle between the line  and the plane 3x+2y-3z=4

is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

= =
x

2

y

3
z

4

45∘

0∘

cos − 1( )
24

√29√22

90∘

53. Find the angle between the line  and the

plane .

A. 

B. 

= =
x + 1

3

y − 1

2

z − 1

4

2x + y − 3z + 4 = 0

30∘

cos − 1( )
4

√406

https://dl.doubtnut.com/l/_1gdzusU60Vfl
https://dl.doubtnut.com/l/_xAg86pA3lC5m


C. 

D. 

Answer: C

Watch Video Solution

sin− 1( )
−4

√406

60∘

54. The angle between the plane ax+by+cz+d=0 and the line

 is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

= =
x − 1

a

y − 2

b

z − 3

c

45∘

60∘

90∘

cos ec− 1√a2 + b2 + c2

https://dl.doubtnut.com/l/_xAg86pA3lC5m
https://dl.doubtnut.com/l/_nEogExnsbDNC
https://dl.doubtnut.com/l/_TxsvMXCmIVVE


55. The angle between the line 6x=4y=3z and the plane 3x+2y-3z=4 is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

45∘

0∘

90∘

cos − 1( )
24

√27√22

56. The line  is parallel to the plane

ax+by+cz+d=0 if

A. 

B. 

C. 

= =
x − x1

a1

y − y1

b1

z − z1

c1

= =
a1

a

b1

b

c1

c

aa1 + _ 1 + _ 1 = 1

aa1 + _ 1 + _ 1 = 0

https://dl.doubtnut.com/l/_TxsvMXCmIVVE
https://dl.doubtnut.com/l/_K6H5Sf9Hqyrq


D. 

Answer: C

View Text Solution

a1b1c1 = a2b2c2

57. If the line  is parallel to the plane 

, then m is equal to

A. 3

B. -3

C. 1

D. -1

Answer: B

View Text Solution

r̄ = î + λ(2 î − mĵ − 3k̂)

r̄. (mî + 3ĵ + k̂) = 0

https://dl.doubtnut.com/l/_K6H5Sf9Hqyrq
https://dl.doubtnut.com/l/_ig1uuhtV8zZN


58. IF the line  and origin lie on the plane 4x+4y-

kz=0, then k=

A. 1

B. 3

C. 5

D. 7

Answer: C

Watch Video Solution

= =
x − 1

2

y + 1

3
z

4

59. The distance of the point (2,3,4) from the plane

 is

A. 

B. 

C. 

r̄ ⋅ (3 î − 2ĵ + 6k̂) = 5

18

7

19

7

17
7

https://dl.doubtnut.com/l/_XNNB5kvqnEIB
https://dl.doubtnut.com/l/_zqoSUa6mMyf3


D. 

Answer: B

View Text Solution

16

7

60. Distance of plane x+y+z=3 from origin is

A. 3

B. 

C. 

D. 

Answer: B

Watch Video Solution

√3

1

√3

1

3

https://dl.doubtnut.com/l/_zqoSUa6mMyf3
https://dl.doubtnut.com/l/_lQXVCOIz5Fgc


61. What is the distance of the point (2,3,4) from the plane

A. 9

B. 10

C. 2

D. 1

Answer: D

Watch Video Solution

3x − 6y + 2z + 11 = ?

62. A plane makes 2,1,-2 intercepts on co-ordinate axes. Its distance from

the origin is

A. 3

B. 

C. 

1

3

2

√6

https://dl.doubtnut.com/l/_Rjle0seuVSiJ
https://dl.doubtnut.com/l/_vwwRqihe7Mgb


D. 

Answer: C

View Text Solution

√6

63. If a plane cuts intercepts -6,3,4 on the co-ordinate axes, then the

length of the perpendicular form the origin to the plane is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

1

√61

13

√61

12

√29

5

√41

https://dl.doubtnut.com/l/_vwwRqihe7Mgb
https://dl.doubtnut.com/l/_xgWt8WawxZ1k


64. If the distance of the point (1,1,1) from the origin is half its distance

from the plane , then k is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y + z + k = 0

±3

±6

−3, 6

3, − 9

65. Ifthe points  are equidistant from the plane,

, then  satisfiesthe equation

A. 0

B. 1

C. 2

(1, 1, λ) and ( − 3, 0, 1)

3x + 4y − 12z + 13 = 0 λ

https://dl.doubtnut.com/l/_bgebhZOaypCf
https://dl.doubtnut.com/l/_Bf5dsOKOQAmE


D. 3

Answer: B

Watch Video Solution

66. The distance between the line  and the

plane 2x+2y-z=6 is

A. 9

B. 1

C. 2

D. 3

Answer: D

View Text Solution

= =
x − 1

3

y + 2

−2

z − 1

2

https://dl.doubtnut.com/l/_Bf5dsOKOQAmE
https://dl.doubtnut.com/l/_kxYAeryCg9q1


67. Show that the distance between planes

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x − 2y + z + 3 = 0 and 4x − 4y + 2z + 5 = 0is
1

6

1

11

1

√6

1

12

1

6

68. Find the distance between the planes  and 

.

A. 

B. 

C. 

x + 2y + 3z + 7 − 0

2x + 4y + 6z + 7 = 0

√7

2√2

7
2

√7
2

https://dl.doubtnut.com/l/_ky2q1ozLXQe7
https://dl.doubtnut.com/l/_nC9ez1gn7ew0


D. 

Answer: A

Watch Video Solution

7

2√2

69. The equation of the planes which conatains lines

 is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

= =  and = =
x − 1

1

y + 2

2

z − 3

1
x − 4

1

y

2

z + 1

1

10x − 7y + 4z − 36 = 0

10x + 7y − 4z + 36 = 0

10x − 7y − 4z − 36 = 0

10x − 7y − 4z + 36 = 0

https://dl.doubtnut.com/l/_nC9ez1gn7ew0
https://dl.doubtnut.com/l/_mjaDAKF8gHLl


Critical Thinking

70. The equation of the plane containing lines

is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

r̄ = î + 2ĵ − k̂ + λ( î + 2ĵ − k̂)  and r̄ = î + 2ĵ − k̂ + μ( î + ĵ + 3k̂)

r̄ ⋅ (7 î − 4ĵ − k̂) = 0

7(x − 1) − 4(y − 1) − (z + 3) = 0

r̄ ⋅ ( î + 2ĵ − 3k̂) = 0

r̄ ⋅ ( î + ĵ + k̂) = 0

1. A variable plane passes
through a fixed point 
and meets the

axes at 
show that the locus of the point of
 intersection of

(α, β, γ)

A, B, andC.

https://dl.doubtnut.com/l/_Yhv9mbPfWuzq
https://dl.doubtnut.com/l/_atzJ8Pf8tWpx


the planes through 
 parallel to the coordinate planes is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A, BandC

αx− 1 + βy− 1 + γz − 1 = 1.

+ + = 2
a

x

b

y

c

z

+ + = 1
a

x

b

y

c

z

+ + = − 2
a

x

b

y

c

z

+ + = − 1
a

x

b

y

c

z

2. Equation of a plane passing through (1,1,1) and containg X-axis is

A. x-y=0

B. x-z=0

C. y-z=0

D. x+y+z=3

https://dl.doubtnut.com/l/_atzJ8Pf8tWpx
https://dl.doubtnut.com/l/_uyBAY5bYqoFf


Answer: C

View Text Solution

3. Equation of the plane passing through points (1,-1,3) and (2,3,-4) and

parallel to X-axis is

A. 7y+4z+5=0

B. 7y+4z-5=0

C. 7y-4z-5=0

D. 7y-4z+5=0

Answer: B

View Text Solution

4. The equation of plane passing through mid-point of the joining

 and perpendicular to it isî + 2ĵ + 4k̂  and − î + 2ĵ − 6k̂

https://dl.doubtnut.com/l/_uyBAY5bYqoFf
https://dl.doubtnut.com/l/_oICa8amkLJfR
https://dl.doubtnut.com/l/_0TjneoJvYa6J


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

r̄. ( î − 5k̂) − 10 = 0

r̄. ( î − 5k̂) + 10 = 0

r̄. ( î + 5k̂) − 10 = 0

r̄. ( î + 5k̂) + 10 = 0

5. Equation of the plane passing through point P(a,b,c) and

perpendicular to OP is

A. 

B. 

C. 

D. 

Answer: B

ax + by + cz = a + b + c

ax + by + cz = a2 + b2 + c2

+ + = 3
x

a

y

b

z

c

ax + by + cz = (a + b + c)2

https://dl.doubtnut.com/l/_0TjneoJvYa6J
https://dl.doubtnut.com/l/_BQYMnBnUvKbf


View Text Solution

6. Equation of the plane which bisects the line segment joining (-1,2,3)

and (3,-5,6) perpendicularly, is

A. 4x+2y-3z=28

B. 4x-7y-3z=28

C. 4x-7y+3z=28

D. 4x-7y-3z=8

Answer: C

View Text Solution

7. The intercepts made on the axes
 by the plane the which bisects the

line joining the points 
 and 
 at right angles are
 a. 


b. 
c. 
d. 

(1, 2, 3) ( − 3, 4, 5)

( − , 9, 9)
9

2
( , 9, 9)

9

2
(9, − , 9)

9

2
(9, , 9, )

9

2

https://dl.doubtnut.com/l/_BQYMnBnUvKbf
https://dl.doubtnut.com/l/_VoBLxRuld4kd
https://dl.doubtnut.com/l/_vT5PAfwxmsDJ


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − , 9, 9)
9

2

( , 9, 9)
9

2

(9, − , 9)
9

2

(9, − , 9)
9

2

8. The equation of the plane through the points (2,-1,0), (3,-4,5) parallel

to a line with direction cosines proportional to 2,3,4 is 9x-2y-3z=k, where

k is

A. 20

B. -20

C. 10

D. -10

https://dl.doubtnut.com/l/_vT5PAfwxmsDJ
https://dl.doubtnut.com/l/_2fLl14emHw4i


Answer: A

Watch Video Solution

9. If the vector equation of a plane passing through three points

 is , then

the value of  is

A. 0

B. 1

C. -1

D. 3

Answer: B

View Text Solution

(1, 0, z1), (1, − 1, 1),  and (4, − 3, 2) r̄. ( − î + 3k̂) = 2

z1

https://dl.doubtnut.com/l/_2fLl14emHw4i
https://dl.doubtnut.com/l/_rPkRLnv4NVHF


10. The equation of the plane passing through the points

 is  where  is :

A. 23

B. 21

C. 19

D. 27

Answer: A

Watch Video Solution

(3, 2, − 1), (3, 4, 2) and (7, 0, 6) 5x + 3y − 2z = λ, λ

11. The equation of the plane which contains the origin and the line of

intersectio of the plane  and  is

A. 

B. 

C. 

→
r .

→
a = d1

→
r .

→
b = d2

r̄. (pā − qb̄) = 0

r̄. (qā − pb̄) = 0

r̄. (pā + qb̄) = 0

https://dl.doubtnut.com/l/_pvLqXznPWyVr
https://dl.doubtnut.com/l/_wx7qvgzVymGI


D. 

Answer: B

Watch Video Solution

r̄. (qā + pb̄) = 0

12. The line of intersection of the planes

 is parallel to the

vector

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

r̄. (3 î − ĵ + k̂) = 1  and r̄. ( î + 4ĵ − 2k̂) = 2

−2 î − 7ĵ + 3k̂

2 î + 7ĵ − 13k̂

2 î + 7ĵ + 13k̂

−2 î + 7ĵ + 13k̂

https://dl.doubtnut.com/l/_wx7qvgzVymGI
https://dl.doubtnut.com/l/_HSfxnQms3eh3
https://dl.doubtnut.com/l/_dpX6djrRxXCW


13. The equation of the plane through the intersection of plane x+2y+3z-

4=0 and 2x+y-z+5=0 and perpendicular to plane 5x+3y-6z+8=0 is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

33x + 45y + 50z − 41 = 0

33x + 50y + 45z − 41 = 0

33x + 45y + 50z + 41 = 0

45x + 33y + 50z − 41 = 0

14. The equation of a plane passing through origin and perpendicular to

the line x=2y=3z is

A. x+2y+3z=0

B. 3x+2y+z=0

C. 6x+3y+2z=0

https://dl.doubtnut.com/l/_dpX6djrRxXCW
https://dl.doubtnut.com/l/_j1xT77ddCgvJ


D. 6x-3y+2z=0

Answer: C

View Text Solution

15. The equation of the plane passing through Z-axis and perpendicular

to line  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

= =
x − 1

cos θ

y + 2

sin θ

z − 3

0

y + x tan θ = 0

x + y tan θ = 0

y + z tan θ = 0

x + z tan θ = 0

https://dl.doubtnut.com/l/_j1xT77ddCgvJ
https://dl.doubtnut.com/l/_M9aebakFIGPA


16. Equation of plane which contains the line 

and which is perpendicular to the plane 2x+7y+5z=2, is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

= =
x − 1

1

y − 2

3

z − 3

2

x + y + z = 6

−x + y + z = 2

2x − y + z = 3

x − y + z = 2

17. The equation of the plane passing through  and

containg the line  is

A. 

B. 

A(x1, y1, z1)

= =
x = x2

d1

y = y2

d2

z = z2

d3

∣
∣
∣
∣
∣

x + x1 y + y1 z + z1

x2 + x1 y2 + y1 z2 + z1

d1 d2 d3

∣
∣

∣

∣
∣

= 0

∣
∣
∣
∣
∣

x − x1 y − y1 z − z1

x2 − x1 y2 − y1 z2 − z1

d1 d2 d3

∣
∣

∣

∣
∣

= 0

https://dl.doubtnut.com/l/_h3LP416TWsbK
https://dl.doubtnut.com/l/_0sgOawXwxMsG


C. 

D. 

Answer: B

View Text Solution

∣
∣
∣
∣
∣

x − d1 y − d2 z − d3

x1 y1 z1

x2 y2 z2

∣
∣

∣

∣
∣

= 0

∣
∣
∣
∣
∣

x y z

x1 − x2 y1 − y2 z1 − z2

d1 d2 d2

∣
∣

∣

∣
∣

= 0

18. Find the equation of a line passing through the point

 and perpendicular to the plane

. Also find the point of intersection of this

line and the plane.

A. 

B. 

C. 

D. 

(2 î − 3ĵ − 5k̂)

→
r . (6 î − 3ĵ + 5k̂) + 2 = 0

r̄ = 6 î − 3ĵ + 5k̂ + λ(2 î + 3ĵ − 5k̂)

r̄ = (6 î − 3ĵ + 5k̂) + λ(2 î − 3ĵ − 5k̂)

r̄ = (2 î − 3ĵ − 5k̂) + λ(6 î + 3ĵ − 5k̂)

r̄ = (2 î − 3ĵ − 5k̂) + λ(6 î − 3ĵ + 5k̂)

https://dl.doubtnut.com/l/_0sgOawXwxMsG
https://dl.doubtnut.com/l/_VJ7EoT1RN6y2


Answer: D

Watch Video Solution

19. Find the vector equation of
a line passing through 
and

perpendicular to
theplane 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 î − 5ĵ + 7k̂

3x − 4y + 5z = 8.

r̄ = 3 î − 5ĵ + 7k̂ + λ(3 î − 4ĵ + 5k̂)

r̄ = 3 î − 4ĵ + 5k̂ + λ(3 î − 5ĵ + 7k̂)

r̄ = 3 î + 5ĵ − 7k̂ + λ(3 î − 4ĵ − 5k̂)

r̄ = 3 î + 4ĵ − 5k̂ + μ(3 î + 5ĵ + 7k̂)

20. The equation of a line passing through point (1,2,3) and

perpendicular to the plane x+2y-5z+9=0 are

https://dl.doubtnut.com/l/_VJ7EoT1RN6y2
https://dl.doubtnut.com/l/_wXYUa4CmbwSo
https://dl.doubtnut.com/l/_sCR9zZiPsoUD


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

= =
x − 1

1

y − 2

2

z − 3

−5

= =
x + 1

1

y + 2

2

z + 3

−5

= =
x + 1

1

y + 2

2

z + 3

3

= =
x − 1

1

y − 2

−2

z − 3

5

21. The equation of the line passing through  and parallel to the

planes  and  is.

A. 

B. 

C. 

D. 

Answer: A

(1, 2, 3)

x − y + 2z = 5 3x + y + z = 6

= =
x − 1

−3

y − 2

5

z − 3

4

= =
x + 3

1

y − 5

2
z − 4

4

= =
x − 3

1

y − 5

2
z − 4

3

= =
x − 1

3

y − 2

5

z − 3

4

https://dl.doubtnut.com/l/_sCR9zZiPsoUD
https://dl.doubtnut.com/l/_8vG3ITeJqabw


Watch Video Solution

22. If the angle between the planes

 is , then the

value of x is

A. 2

B. 0

C. -2

D. 4

Answer: A

View Text Solution

r̄. (xî + ĵ − k̂) = 4  and r̄. ( î + xĵ + k̂) = − 1
π

3

23. For any four points O(0,0,0),P(1,2,1),Q(2,3,0),R(0,1,-1), the angle between

the planes OPQ and PQR is

https://dl.doubtnut.com/l/_8vG3ITeJqabw
https://dl.doubtnut.com/l/_97QzVQKlEv3x
https://dl.doubtnut.com/l/_RujH7ClQ5ddY


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

cos − 1( )
5

√28

sin− 1( )
5

√28

cos − 1( )
5

√14

sin− 1( )
5

√14

24. The active angle between the plane 2x+3y-z+7=0 and X-axis is

A. 

B. 

C. 

D. 

Answer: C

cos − 1( )
2

√14

cos − 1( )
−2

√14

sin− 1( )
2

√14

sin− 1( )
−2

√14

https://dl.doubtnut.com/l/_RujH7ClQ5ddY
https://dl.doubtnut.com/l/_sU1dHQPR6NvK


View Text Solution

25. If the angle between the line  and the

plane x-3y+2z+5=0 is , the value of k is

A. 2

B. -2

C. 1

D. -1

Answer: A

View Text Solution

= =
x − 1

1

y − 2

k

z + 3

4

sin− 1( )
3

7√6

26. Equation of a line and plane are respectively 

and 4x-2y-z=1. Then

A. line is parallel to the plane

= =
x − 1

2

y

3

z − 3

2

https://dl.doubtnut.com/l/_sU1dHQPR6NvK
https://dl.doubtnut.com/l/_pHBP338hsYFx
https://dl.doubtnut.com/l/_q4ZrNpqFA3og


B. line is perpendicular to the plane

C. line lies in the plane

D. none of these

Answer: C

View Text Solution

27. Equation of a line and a plane are respectively

 and 2x-3y+5z=1. Then

A. line lies in the plane

B. line is parallel to the plane

C. line is perpendicular to the plane

D. none of these

Answer: B

View Text Solution

= =
x + 3

2

y − 4

3

z + 5

1

https://dl.doubtnut.com/l/_q4ZrNpqFA3og
https://dl.doubtnut.com/l/_uMvS3u2wouZe


28. If line  lines in the plane 4x+4y-cz-d=0,

then values of c,d are

A. 5,3

B. 4,8

C. 

D. 

Answer: A

View Text Solution

= =
x − 3

2

y − 4

3

z − 5

4

−4, − 8

−5, − 3

29. If the line  lies in the plane x+By-3z+D=0,

then the values of B and D are

A. 

B. 

= =
x − 1

2

y − 1

3

z + 2

2

,
4
3

−25

3

,
−4
3

−25

3

https://dl.doubtnut.com/l/_uMvS3u2wouZe
https://dl.doubtnut.com/l/_Ek9ivsKqQ2uu
https://dl.doubtnut.com/l/_EHwPZKu93xls


C. 

D. 

Answer: A

View Text Solution

,
3

4

25

4

,
−3

4

−25

4

30. Find the vector equation of the plane in which the lines

 and 

lie.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

→
r = î + ĵ + λ( î + 2ĵ − k̂)

→
r = ( î + ĵ) + μ( − î + ĵ − 2k̂)

r̄. ( î + ĵ + k̂) = 0

r̄. ( î − ĵ + k̂) = 0

r̄. ( î + ĵ − k̂) = 0

r̄. ( − î + ĵ + k̂) = 0

https://dl.doubtnut.com/l/_EHwPZKu93xls
https://dl.doubtnut.com/l/_EOFBeUPwCUmb


31. The equation of the plane containing lines

 is

A. x-2y+z+7=0

B. x-2y+z=7

C. x+2y-z=7

D. x-2y+z=0

Answer: A

Watch Video Solution

= =  and = =
x

1

y − 2

2

z + 3

3

x − 2

2

y − 6

3

z − 3

4

32. Find the equation of the
 plane containing the lines

A. 17x-47y-24z+172=0

B. 17x+47y-24z+172=0

= = and = = .
x − 5

4

y − 7

4

z + 3

−5

x − 8

7

y − 4

1

z − 5

3

https://dl.doubtnut.com/l/_EOFBeUPwCUmb
https://dl.doubtnut.com/l/_KSuRuVB7Z0GU
https://dl.doubtnut.com/l/_qG2rrd5iNlRJ


C. 17x+47y+24z+172=0

D. 17x-47y+24z+172=0

Answer: A

Watch Video Solution

33. The plane containing lines

 passes

through

A. (0,0,0)

B. (1,0,1)

C. (1,-1,1)

D. (-1,1,0)

Answer: A

View Text Solution

= =  and = =
x + 1

3

y + 3

5

z + 5

7

x − 2

1

y − 4

4

z − 6

7

https://dl.doubtnut.com/l/_qG2rrd5iNlRJ
https://dl.doubtnut.com/l/_dB3PLYqSOKyP


34. If lines  and 

are coplanar, then l is equal to

A. 0

B. 1

C. 2

D. 3

Answer: B

View Text Solution

= =
x + l

3

y + 3

5

z + 5

7
= =

x − 2

1

y − 4

3

z − 6

5

35. If the lines  and 

 are coplanar, then the value of k is

A. 7

B. 3

= =
x − 2

1

y − 4

4

z − 6

k

= =
x + 1

3

y + 3

5

z + 5

7

https://dl.doubtnut.com/l/_dB3PLYqSOKyP
https://dl.doubtnut.com/l/_k9oG79eHEGYT
https://dl.doubtnut.com/l/_bhaBLJwPw1wS


C. -3

D. -7

Answer: A

View Text Solution

36. The lines  and 

are coplanar, if value of  is

A. 2

B. 13

C. -13

D. no real value exists

Answer: D

View Text Solution

= =
x − 3

1

y − 1

2

z − 3

−λ
= =

x − 1

λ

y − 2

3

z − 1

4

λ

https://dl.doubtnut.com/l/_bhaBLJwPw1wS
https://dl.doubtnut.com/l/_94erZ5O9eMwp
https://dl.doubtnut.com/l/_YPqzmvrliYgE


37. Lines  are

A. parallel

B. perpendicular

C. coplanar

D. non-coplanar

Answer: C

View Text Solution

= =  and = =
x

1

y − 2

2

z + 3

3

x − 2

2

y − 6

3

z − 3

4

38. If product of distance of point (1,2,-1) from planes 2x-3y+z+k=0 and

x+2y+3z=0 is 1, then k is equal to

A. 12

B. 14

C. 10

https://dl.doubtnut.com/l/_YPqzmvrliYgE
https://dl.doubtnut.com/l/_H0kNO0SMvAmL


D. 8

Answer: A

Watch Video Solution

39. If  are the lenghts of the perpendicular from the points

(2,3,4) and (1,1,4) respectively from the plane 3x-6y+2z+11=0, then

 are the roots of the equation

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P1  and P2

P1  and P2

P 2 − 23P + 7 = 0

7P 2 − 23P + 16 = 0

P 2 − 17P + 16 = 0

P 2 − 16P + 7 = 0

https://dl.doubtnut.com/l/_H0kNO0SMvAmL
https://dl.doubtnut.com/l/_dU6hDzmfOaxp
https://dl.doubtnut.com/l/_YOmgjxdIDNLz


40. Find the equation of a
 plane which is parallel to the plane


and whose distance from
thepoint 
is 1.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − 2y + 2z = 5 (1, 2, 3)

x − 2y + 2z = 3

x − 2y + 2z + 3 = 0

x − 2y + 2z = 6

x − 2y + 2z + 6 = 0

41. Find the locus of a point, the sum of squares of whose distances from

the planes  is 36.

A. 

B. 

C. 

x − z = 0, x − 2y + z = 0 and x + y + z = 0

x2 + y2 + z2 = 6

x2 + y2 + z2 = 36

x2 + y2 + z2 = 216

https://dl.doubtnut.com/l/_YOmgjxdIDNLz
https://dl.doubtnut.com/l/_ZWAPICGDPTti


D. 

Answer: B

Watch Video Solution

x2 + y2 + z2 =
1

36

42. If  denote the distance of the plane 2x-3y+4z+2=0 from the

planes 2x-3y+4z+6=0, 4x-6y+8z+3=0 and 2x-3y+4z-6=0 respectively, then

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

p1, p2, p3

p1 + 8p2 − p1 = 0

p3
2 = 16p2

2

8p2
2 = p2

1

p1 + 2p2 + 3p3 = √29

https://dl.doubtnut.com/l/_ZWAPICGDPTti
https://dl.doubtnut.com/l/_9wXCdNgWL5JK


43. A plane meets the co-ordinate axes at A,B,C such that the centroid of

the triangle is (3,3,3). The eqation of the plane is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

9x + 9y + 9z = 1

x + y + z = 3

3x + 3y + 3z = 1

x + y + z = 9

44. A plane meets the co-ordinate axes at A,B,C and  is the

centroid of the triangle ABC. Then the equation of the plane is

A. 

B. 

C. 

(α, β, γ)

αx + βy + γz = 1

+ + = 1
x

α

y

β

z

γ

+ + = 3
x

α

y

β

z

γ

https://dl.doubtnut.com/l/_3zkNu1y4lDcM
https://dl.doubtnut.com/l/_xIwBymmrdXmK


D. 

Answer: C

View Text Solution

+ + = 1
3x

α

3y

β

3z

γ

45. If plane 6x-3y+2z-18 meets co-ordinate axes at points A,B,C, then

centroid of  is

A. (1,2,3)

B. (-1,2,3)

C. (1,-2,3)

D. (1,2,1)

Answer: C

View Text Solution

△ ABC

https://dl.doubtnut.com/l/_xIwBymmrdXmK
https://dl.doubtnut.com/l/_DUJHHY1P07dv


46. The plane  meets the coordinate axes in .

The centroid of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax + by + cz = 1 A, B, C

ΔABC

( , , )
a

3
b

3
c

3

( , , )
3

a

3

b

3

c

( , , )
1

3a

1

3b

1

3c

(3a, 3b, 3c)

47. A plane a constant distance p from the origin meets the coordinate

axes in A, B, C. Locus of the centroid of the triangle ABC is

A. 

B. 

C. 

+ + =
1

x2

1

y2

1

z2

1

p2

+ + =
1

x2

1

y2

1

z2

9

p2

+ + =
1

x2

1

y2

1

z2

2

p2

https://dl.doubtnut.com/l/_VRvYqoTHtFhj
https://dl.doubtnut.com/l/_39EwBBD0zCXY


D. 

Answer: B

Watch Video Solution

+ + =
1

x2

1

y2

1

z2

4

p2

48. Foot of perpendicular of point (2,2,2) in the plane x+y+z=9 is

A. (1,1,1)

B. (3,3,3)

C. (9,0,0)

D. (2,6,1)

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_39EwBBD0zCXY
https://dl.doubtnut.com/l/_0N86SLVuXq8S


49. The plane passing through the point  perpendicular to the

line  will meet the line in the point :

A. (1,2,3)

B. (2,3,1)

C. (1,3,2)

D. (3,2,1)

Answer: A

Watch Video Solution

(5, 1, 2)

2(x − 2) = y − 4 = z − 5

50. The equation of the plane passing through the intersection of the

planes  and  and parallel to the plane 

 is , where k is

A. 5

B. 3

2x − 5y + z = 3 x + y + 4z = 5

x + 3y + 6z = 1 x + 3y + 6z = k

https://dl.doubtnut.com/l/_Tr7PdLlSshpJ
https://dl.doubtnut.com/l/_aN8MqCDiPx0k


C. 7

D. 2

Answer: C

Watch Video Solution

51. The plane  is rotated through a right angle

about its line of intersection with the plane . If the

equation of the plane in its new position is , then the

value of K is

A. 106

B. -89

C. 73

D. 37

Answer: A

4x + 7y + 4z + 81 = 0

5x + 3y + 10z = 25

x − 4y + 6z = K

https://dl.doubtnut.com/l/_aN8MqCDiPx0k
https://dl.doubtnut.com/l/_hRmkzLZmC3cL


Watch Video Solution

52. Equation of a plane bisecting the angle between the planes 2x-

y+2z+3=0 and 3x-2y+6z+8=0 is

A. 5x-y-4z-45=0

B. 5x-y-4z-3=0

C. 23x+13y+32z-45=0

D. 23x-13y+32z+5=0

Answer: B

View Text Solution

53. The line  and the plane 4x+5y+3z-5=0

intersect at a point

A. (3,1,-2)

= =
x + 3

3

y − 2

−2

z + 1

1

https://dl.doubtnut.com/l/_hRmkzLZmC3cL
https://dl.doubtnut.com/l/_XQSC4LKDlYQ8
https://dl.doubtnut.com/l/_XQx6b8hjV1uP


B. (3,-2,1)

C. (2,-1,3)

D. (-1,-2,-3)

Answer: B

View Text Solution

54. The point at which the line joining the points

 intersects the plane  is

A. (1,2,7)

B. (1,-2,7)

C. (-1,2,7)

D. (1,-2,-7)

Answer: B

Watch Video Solution

(2, − 3, 1) and (3, − 4, − 5) 2x + y + z = 7

https://dl.doubtnut.com/l/_XQx6b8hjV1uP
https://dl.doubtnut.com/l/_holOFaRK6xCp


55. Find the distance of the point of intersection of the line

 and the plane  from the

point 

A. 3

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

= =
x − 3

1

y − 4

2

z − 5

2
x + y + z = 17

(3, 4, 5).

3

2

√3

56. The distance of the point  from the plane 

measured parallel to the line , is

A. 

(1, − 2, 3) x − y + z = 5

= =
x

2

y

3
z

−6

7
6

https://dl.doubtnut.com/l/_holOFaRK6xCp
https://dl.doubtnut.com/l/_ogoDisCIK2Ql
https://dl.doubtnut.com/l/_Yt9RpdhNtAyI


B. 

C. 1

D. 2

Answer: C

Watch Video Solution

6

7

57. Equation of the plane parallel to the planes 

 and equidistant from

them is

A. 

B. 

C. 

D. 

Answer: A

x + 2y + 3z − 5 = 0,     x + 2y + 3z − 7 = 0

x + 2y + 3z = 6

x + 2y + 3z = 1

x + 2y + 3z + 6 = 0

x + 2y + 3z + 1 = 0

https://dl.doubtnut.com/l/_Yt9RpdhNtAyI
https://dl.doubtnut.com/l/_gsjKJnlO5PeF


Competative Thinking

Watch Video Solution

58. Equation of plane equidistant form planes 3x+4y+5z-6=0 and

3x+4y+5z+6=0 is

A. 3x+4y+5z=0

B. 3x+4y+5z=3

C. 3x+4y+5z=12

D. 4x+5y+3z=0

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_gsjKJnlO5PeF
https://dl.doubtnut.com/l/_W0j1GriKr4zh


1. The vector equation of the plane which is at distance of  form

the origin and the normal form the origin is  is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

3

√14

2 î − 3ĵ + k̂

r̄. ( î + ĵ + k̂) = 9

r̄. (2 î + k̂) = 3

r̄. (2 î − 3ĵ + k̂) = 3

r̄. ( î + 2ĵ) = 3

2. The equation of the plane through (-1,1,2), whose normal makes equal

acute angles with coordinate axes is

A. 

B. 

r̄ ⋅ ( î + ĵ + k̂) = 2

r̄ ⋅ ( î + ĵ + k̂) = 6

https://dl.doubtnut.com/l/_3q1wATIYEW79
https://dl.doubtnut.com/l/_CEA8DtsduoGw


C. 

D. 

Answer: A

Watch Video Solution

r̄ ⋅ (3 î − 3ĵ + 3k̂) = 2

r̄ ⋅ ( î − ĵ + k̂) = 3

3. The direction cosines of the normal to the plane 

 are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + 2y − 3z + 4 = 0

− , − , −
1

√14

2

√14

−3

√14

, ,
1

√14

2

√14

3

√14

− , ,
1

√14

2

√14

3

√14

, , −
1

√14

2

√14

3

√14

https://dl.doubtnut.com/l/_CEA8DtsduoGw
https://dl.doubtnut.com/l/_saK5EJrOh9ZA
https://dl.doubtnut.com/l/_2uaDfI0CL5gI


4. If the normal of the plane makes angles  with positive

X-axis, Y-axis and Z-axis respectively and the length of the perpendicular

line segment form origin to the plane is , then the equation of the

plane is ……......

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

,  and 
π

4

π

4

π

2

√2

x + y + z = √2

x + y = 2

x + y + z = 1

x = √2

5. The equation of the plane through  and  and

parallel to -axis is

A. y-z+1=0

(1, 2, − 3) (2, − 2, 1)

X

https://dl.doubtnut.com/l/_2uaDfI0CL5gI
https://dl.doubtnut.com/l/_Xx7uUo9xWqpJ


B. y-z-1=0

C. y+z-1=0

D. y+z+1=0

Answer: D

Watch Video Solution

6. The equation of the plane through  and parallel to the plane 

 is :

A. x+2y+4z=10

B. x+2y+4z=3

C. x+y+2z=2

D. x+2y+4z=24

Answer: D

Watch Video Solution

(2, 3, 4)

x + 2y + 4z = 25

https://dl.doubtnut.com/l/_Xx7uUo9xWqpJ
https://dl.doubtnut.com/l/_Tn5wk3AxURw5


7. The equation of the plane passing through (2,3,4) and parallel to the

plane 5x-6y+7z=3 is

A. 5x-6y+7z+20=0

B. 5x-6y+7z-20=0

C. 

D. 5x+6y+7z+3=0

Answer: B

View Text Solution

−5x + 6y − 7z − 3 = 0

8. The equation of plane passing through the point (1 ,2 ,3) and parallel

to the plane  is

A. 

B. 

2x + 3y − 4z = 0

2x + 3y + 4z = 4

2x + 3y + 4z + 4 = 0

https://dl.doubtnut.com/l/_Tn5wk3AxURw5
https://dl.doubtnut.com/l/_rQO4lv9dFZtT
https://dl.doubtnut.com/l/_2fCNfqWX0Jvl


C. 

D. 

Answer: D

Watch Video Solution

2x − 3y + 4z + 4 = 0

2x + 3y − 4z + 4 = 0

9. The intercepts of the plane  on the coordinate

axes are

A. (10,20,-10)

B. (10,-20,12)

C. (12,-20,10)

D. (12,20,-10)

Answer: C

Watch Video Solution

5x − 3y + 6z − 60 = 0

https://dl.doubtnut.com/l/_2fCNfqWX0Jvl
https://dl.doubtnut.com/l/_a9Vn850eHIS4
https://dl.doubtnut.com/l/_BzKsgjPNUMoE


10. If the plane  passes through the point 

then the intercepts cut by it on the axes of  are respectively-

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x − 3y + 5z = d (1, 2, 4),

x, y, z

(15, − 5, 3)

(1, − 5, 3)

( − 15, 5, − 3)

(1, − 6, 20)

11. A plane pi makes intercepts 3 and 4 respectively on z-axis and x-axis. If

pi is parallel to y-axis, then its equation is (A)  (B) 

 (C)  (D) 

A. 3x+4z=12

B. 3z+4x=12

3x − 4z = 12

3z + 4z = 12 3y + 4z = 12 3z + 4y = 12

https://dl.doubtnut.com/l/_BzKsgjPNUMoE
https://dl.doubtnut.com/l/_e9N8C8jMkcue


C. 3y+4z=12

D. 3z+4y=12

Answer: A

Watch Video Solution

12. The equation of a plane which cuts equal intercepts of unit length on

the axes is

A. x+y+z=0

B. z+y+z=1

C. x+y-z=1

D. 

Answer: B

Watch Video Solution

+ + = 1
x

a

y

a

z

a

https://dl.doubtnut.com/l/_e9N8C8jMkcue
https://dl.doubtnut.com/l/_EYtXurUl0KM9
https://dl.doubtnut.com/l/_YW1s6jeR1YT2


13. If a plane has x-intercept l, y-intercept m and z-intercet n, and

perpendicular distance of plane from origin is k, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ + = k21

l2

1

m2

1

n2

+ + =
1

l2

1

m2

1

n2

1

k2

l2 + m2 + n2 =
1

k2

l2 + m2 + n2 = k2

14. The equation of the plane which bisects the line joining  and 

A. x+y+z+15=0

B. x-y-z-15=0

C. x-y+z-15=0

(2, 3, 4)

(6, 7, 8)

https://dl.doubtnut.com/l/_YW1s6jeR1YT2
https://dl.doubtnut.com/l/_iudWfiSlFU7d


D. x+y+z-15=0

Answer: D

Watch Video Solution

15. If the foot of the perpendicular from  to a plane is 

. Then the equation of the plane is

A. 

B. x+2y+2z-9=0

C. x+y+z-5=0

D. x+2y-3z+1=0

Answer: B

Watch Video Solution

O(0, 0, 0)

P (1, 2, 2)

−x + 2y + 8z − 9 = 0

https://dl.doubtnut.com/l/_iudWfiSlFU7d
https://dl.doubtnut.com/l/_Asdq6XpxE6CX


16. If the foot of the perpendicular drawn from the origin to a plane is

(1,2,3), then a point on the plane is

A. (3,2,1)

B. (7,2,1)

C. (7,3,-1)

D. (6,-3,4)

Answer: B

View Text Solution

17. Find the co-ordinate of the foot of the perpendicular drawn form the

origin to the plane 5y+8=0

A. 

B. 

C. 

(0, , 0)
8

5

(0, − , 0)
8

5

(0, − , 2)
18

5

https://dl.doubtnut.com/l/_wFWlVQuAroZX
https://dl.doubtnut.com/l/_1H8Ed4OtHPkI


D. 

Answer: B

Watch Video Solution

( , 0, 0)
8

25

18. If P be the point  then the equation of the plane through P, at

right angles to OP, where 'O' is the origin is

A. 2x+6y+3z=7

B. 2x-6y+3z=7

C. 2x+6y-3z=49

D. 2x+6y+3z=49

Answer: D

Watch Video Solution

(2, 6, 3)

https://dl.doubtnut.com/l/_1H8Ed4OtHPkI
https://dl.doubtnut.com/l/_Dj0EHISLJGim


19. The equation of the plane passng throuogh (1,1,1) and (1,-1,-1) and

perpendicular to  is (A)  (B) 

 (C)  (D) 

A. 2x+5y+z-8=0

B. x+y-z-1=0

C. 2x+5y+z+4=0

D. x-y+z-1=0

Answer: B

Watch Video Solution

2x − y + z + 5 = 0 2x + 5y + z − 8 = 0

x + y − z − 1 = 0 2x + 5y + z + 4 = 0 x − y + z − 1 = 0

20. Equation of the plane through  and  and

perpendicular to the plane x+2y-3z=7 is

A. 5x+2y+3z=0

B. 5x-2y+3z+8=0

( − 2, 2, 2) (2, − 2, − 2)

https://dl.doubtnut.com/l/_UmHOfIgEi7A5
https://dl.doubtnut.com/l/_dFBjlF8a5yS1


C. 5x-2y+3z-7=0

D. 5x-2y-3z=0

Answer: A

Watch Video Solution

21. The equation of the plane passing through the points (0,1,2) and

(-1,0,3) and perpendicular to the plane  is

A. 3x-4y+18z+32=0

B. 3x+4y-18z+32=0

C. 4x+3y-17z+31=0

D. 4x-3y+z+1=0

Answer: D

Watch Video Solution

2x + 3y + z = 5

https://dl.doubtnut.com/l/_dFBjlF8a5yS1
https://dl.doubtnut.com/l/_eJWDwTM9bdKD
https://dl.doubtnut.com/l/_hMEcPBkPswCf


22. The equation of the plane which passes through (2,-3,1) and is normal

to the line joining the points (3,4,-1) and (2,-1,5) is given by

A. x+5y-6z+19=0

B. x-5y+6z-19=0

C. x+5y+6z+19=0

D. x-5y-6z-19=0

Answer: A

Watch Video Solution

23. The equation of the plane passing through the point (-10,5,4) and

perpendicular to the line joining the points (4,-1,2) and (-3,2,3) is

A. 7x-3y-z+89=0

B. 7x-3y-z-89=0

C. 7x+3y-z+89=0

https://dl.doubtnut.com/l/_hMEcPBkPswCf
https://dl.doubtnut.com/l/_BTn80x3gVn5y


D. 7x-3y+z-89=0

Answer: A

View Text Solution

24. A plane II passes through the point (1,1,1).If  are the direction

ratios of a normal to the plane where  are the prime

factors of 2001, then the equation of the plane II is

A. 29x+31y+3z=63

B. 23x+29y-29z=23

C. 23x+29y+3z=55

D. 31x+37y+3z=71

Answer: C

Watch Video Solution

b, c, a

a, b, c(a < b < c)

https://dl.doubtnut.com/l/_BTn80x3gVn5y
https://dl.doubtnut.com/l/_1VyGZ38y3k2u
https://dl.doubtnut.com/l/_SCxYI55YcVnZ


25. If  and  are three non-coplanar vectors, then the vector

equation  represents a

A. straight line

B. plane

C. plane passing through the origin

D. sphere

Answer: B

Watch Video Solution

→
a ,

→
b

→
c

→
r − (1 − p − q)

→
a + p

→
b + q

→
c

26. The equation of the plane that passes through the points (1,0,2),

(1,1,2),(5,0,3) is

A. x+2y-4z+7=0

B. x+2y-3z+7=0

C. x-2y+4z+7=0

https://dl.doubtnut.com/l/_SCxYI55YcVnZ
https://dl.doubtnut.com/l/_GvlIX6VzDGZW


D. 2y-4z-7+x=0

Answer: A

View Text Solution

27. The equation of the plane passing through the points (1,2,3), (-1,4,2)

and (3,1,1) is

A. 5x+y+12z-23=0

B. 5x+6y+2z=23

C. 2x+6y+5z=7

D. x+y+z=13

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GvlIX6VzDGZW
https://dl.doubtnut.com/l/_mJpHjWmc2SX3


28. If the plane passing through the points (1,2,3),(2,3,1) and (3,1,2) is

ax+by+cz=1 then a+2b+3c=

A. 0

B. 1

C. 6

D. 18

Answer: B

Watch Video Solution

29. The equation of the plane passing through the intersection of the

planes  and the origin

ils (A)  (B)  (C) 

(D) 

A. 3x+2y+z+1=0

x + 2y + 3z + 4 = 0adn4x + 3y + 2z + 1 = 0

3x + 2y + z + 1 = 0 3x + 2y + z = 0 2x + 3y + z = 0

x + y + z = 0

https://dl.doubtnut.com/l/_rJLKcfwrcBJM
https://dl.doubtnut.com/l/_EyUhes4IWeqy


B. 3x+2y+z=0

C. 2x+3y+z=0

D. x+y+z=0

Answer: B

Watch Video Solution

30. The equation of plane passing through (2,1,0) and line of intersection

of planes x-2y+3z=4 and x-y+z=3 is

A. x+y-z+4=0

B. 2x+y+z+1=0

C. x-z=2

D. x+y+z+1=0

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_EyUhes4IWeqy
https://dl.doubtnut.com/l/_87Egsk84A0fG


31. Equation of the plane perpendicular to the line  and

passing through the point (2,3,4) is

A. 2x+3y+z=17

B. x+2y+3z=9

C. 3x+2y+z=16

D. x+2y+3z=20

Answer: D

View Text Solution

= =
x

1

y

2
z

3

32. A plane which passes through the point (3,2,0) nd the line

 is (A)  (B) x+y+z=5 x+2y-z=1

2x-y+z=5`

A. x-y+z=1

= =
x − 4

1

y − 7

5
z − 4

4
x − y + z = 1 (C)

(D)

https://dl.doubtnut.com/l/_87Egsk84A0fG
https://dl.doubtnut.com/l/_uddBSYF60tEw
https://dl.doubtnut.com/l/_8BSviKNGdN16


B. x+y+z=5

C. x+2y-z=0

D. 2x-y+z=5

Answer: A

Watch Video Solution

33. The equation of the plane through the point (2,-1,-3) and parallel to

the lines  and  is

A. 8x+14y+13z+37=0

B. 8x-14y+13z+37=0

C. 8x+14y-13z+37=0

D. 8x+14y+13z-37=0

Answer: A

View Text Solution

= =
x − 1

3

y + 2

2
z

−4
= =

x

2

y − 1

−3

z − 2

2

https://dl.doubtnut.com/l/_8BSviKNGdN16
https://dl.doubtnut.com/l/_KcaNH3BmFIRq


34. Let the line  lies in the plane 

. Then,  equals

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 2

3

y − 1

−5

z + 2

2

x + 3y − αz + β = 0 (α, β)

(6, − 17)

( − 6, 7)

(5, − 15)

( − 5, 5)

35. The angular between two planes  and 

 is

A. 

x + 2y + 2z = 3

−5x + 3y + 4z = 9

cos − 1( )
3√2

10

https://dl.doubtnut.com/l/_KcaNH3BmFIRq
https://dl.doubtnut.com/l/_hvwQPGltUBbO
https://dl.doubtnut.com/l/_OPoy6tg8f5d5


B. 

C. 

D. 

Answer: A

Watch Video Solution

cos − 1( )
19√2

30

cos − 1( )
9√2

20

cos − 1( )
3√2

5

36. The angle between the planes 3x-4y+5z=0 and 2x-y-cz=5 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

3

π

2

π

6

π

4

https://dl.doubtnut.com/l/_OPoy6tg8f5d5
https://dl.doubtnut.com/l/_giVGsgD4IjQm


37. The locus represented by  is

A. a pair of perpendicular lines

B. a pair of parallel lines

C. a pair of parallel planes

D. a pair of perpendicular planes

Answer: D

Watch Video Solution

xy + yz = 0

38. If the angle between the planes

 is  ,

then m=

A. 2

B. 

C. 3

r̄. (mî − ĵ + 2k̂) + 3 = 0 and r̄. (2 î − mĵ − k̂) − 5 = 0
π

3

±3

https://dl.doubtnut.com/l/_23pC7eCTsTn9
https://dl.doubtnut.com/l/_8l4Hfn85gRYj


D. 

Answer: C

Watch Video Solution

−2

39. IF planes 

include angle  then the value of p is

A. 

B. 

C. 

D. 3

Answer: D

Watch Video Solution

r̄. (pî − ĵ + 2k̂) + 3 = 0 and r̄. (2 î − pĵ − k̂) − 5 = 0

π

3

1, − 3

−1, 3

−3

https://dl.doubtnut.com/l/_8l4Hfn85gRYj
https://dl.doubtnut.com/l/_gC9OvmMD7eRW


40. The d,r,s of normal to the plane through (1,0,0),(0,1,0) which makes an

angle  with plane x+y=3, are

A. 

B. 

C. 1,1,2

D. 

Answer: B

View Text Solution

π

4

1, √2, 1

1, 1, √2

√2, 1, 1

41. If the planes  and , are at right

angles, then the value of k is

A. 

B. 

C. 

x + 2y + kz = 0 2x + y − 2z = 0

−
1

2

1

2

−2

https://dl.doubtnut.com/l/_0BVq5ZB2qNkY
https://dl.doubtnut.com/l/_yrPWGA30kF3B


D. 2

Answer: D

Watch Video Solution

42. The value of k for which the planes

 areperpendicular to each

other is

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

3x − 6y − 2z = 7 and 2x + y − kz = 5

https://dl.doubtnut.com/l/_yrPWGA30kF3B
https://dl.doubtnut.com/l/_ODkUBRULBl5S
https://dl.doubtnut.com/l/_aoBeP8K8XeOb


43. If the planes  are

mutually perpendicular , then k=

A. 3

B. 

C. 9

D. 

Answer: A

Watch Video Solution

3x − 2y + 2z + 17 = 0 and 4x + 3y − kz = 25

−3

−6

44. The equation of the plane through (4,4,0) and perpendicular to the

planes 2x+y+2z+3=0 and 3x+3y+2z-8=0 is

A. 4x+3y+3z=28

B. 4x-2y-3z=8

C. 4x+2y+3z=24

https://dl.doubtnut.com/l/_aoBeP8K8XeOb
https://dl.doubtnut.com/l/_DVIuaJMa1c4k


D. 4x+2y-3z=24

Answer: B

View Text Solution

45. Angle between the line  and

the plane  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

→
r = (2 î − ĵ + k̂) + λ( − î + ĵ + k̂)

→
r . (3 î + 2ĵ − k̂) = 4

cos − 1( )
2

√84

cos − 1( )
−2

√84

sin− 1( )
−2

√42

sin− 1( )
−2

√14

https://dl.doubtnut.com/l/_DVIuaJMa1c4k
https://dl.doubtnut.com/l/_siPabeT7MgwE


46. The sine of the angle between the straight line

 and the plane  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x − 2

3

y − 3

4
z − 4

5
2x − 2y + z = 5

10

6√5

4

5√2
√2

10

2√3

5

47. If the angle  between the line  and the

plane  is such that . The value of  is

A. 

B. 

θ = =
x + 1

1

y − 1

2

z − 2

2

2x − y + √λz + 4 = 0 sin θ =
1

3
λ

−4

3

3

4

https://dl.doubtnut.com/l/_v1o7BNQPs1c8
https://dl.doubtnut.com/l/_Rj6pC9PPWpY8


C. 

D. 

Answer: D

Watch Video Solution

−3

5

5

3

48. The plane  makes an angle  with X-

axis. The value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x − 3y + 6z − 11 = 0 sin− 1(α)

alpah

√3

2

√2

3

2

7

3

7

https://dl.doubtnut.com/l/_Rj6pC9PPWpY8
https://dl.doubtnut.com/l/_V0AAhGaLpIYT
https://dl.doubtnut.com/l/_eJowrIA42eUZ


49. If the angle batween the line  and the plane 

 is , then  equals

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x = =
y − 1

2

z − 3

λ

x + 2y + 3z = 4 cos − 1(√ )
5

14
λ

2

3

3
2

2

5

5

3

50. The value of  for which the straight line 

may lie on the plane x-2y=0 is

A. 1

B. 0

C. 

λ = =
x − λ

3

y − 1

2 + λ

z − 3

−1

−
1

2

https://dl.doubtnut.com/l/_eJowrIA42eUZ
https://dl.doubtnut.com/l/_qz5evWWcSrwG


D. there is no such 

Answer: C

View Text Solution

λ

51. The line  is parallel to the plane

A. 3x+4y+5z=7

B. 2x+y-2z=0

C. x+y-z=2

D. 2x+3y+4z=0

Answer: B

Watch Video Solution

= =
x − 2

3

y − 3

4
z − 4

5

https://dl.doubtnut.com/l/_qz5evWWcSrwG
https://dl.doubtnut.com/l/_vKZJX7p1bNJy


52. The condition that the line  lies in the

plane  is

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

= =
x − x1

l

y − y1

m

z − z1

n

ax + by + cz + d = 0

= =
a

l

b

m

c

n

al + bm + cn = 0

= = = 0
a

l

b

m

c

n

53. Value of k such that the line 

 lies in the plane 2x-4y+z=7 is

A. 

B. 4

C. 

= =
x − 4

1

y − 2

1

z − k

2

−7

−4

https://dl.doubtnut.com/l/_Kx7pesqwPJ2B
https://dl.doubtnut.com/l/_ZaXRJXktRe0F


D. 7

Answer: D

Watch Video Solution

54. If the line, 
 lies in the place, 


, then 
is equal to:
(1) 26
(2) 18
(3) 5
(4) 2

A. 18

B. 5

C. 2

D. 26

Answer: C

Watch Video Solution

= =
x − 3

2

y + 2

−1
z + 4

3

lx + my − z = 9 l2 + m2

https://dl.doubtnut.com/l/_ZaXRJXktRe0F
https://dl.doubtnut.com/l/_S6wPA5GeW0Gz


55. The condition that the line  lies in the

plane  is

A. l=0

B. m=0

C. n=0

D. l=0,m=0

Answer: C

Watch Video Solution

= =
x − x1

l

y − y1

m

z − z1

n

ax + by + cz + d = 0

56. If  is a point in space and Q be a point on the line 

 Then the value of  for

which the vector PQ is parallel to the plane  is :

A. 

B. 

P (3, 2, 6)

→
r = ( î − ĵ + 2k̂) + μ( − 3 î + ĵ + 5k̂). μ

x − 4y + 3z = 1,

1

4

−
1

4

https://dl.doubtnut.com/l/_W6QzL94fSlB8
https://dl.doubtnut.com/l/_j3JtUebxYqS6


C. 

D. 

Answer: A

Watch Video Solution

1

8

−
1

8

57. The equation of plane containing intersecting lines

 and  is………….

A. x+2y-2z+9=0

B. 2x-y+z+9=0

C. x+y+z+5=0

D. x+y-2x+7=0

Answer: D

Watch Video Solution

= =
x + 3

3

y

1

z − 2

2
= =

x − 3

4

y − 2

2

z − 6

3

https://dl.doubtnut.com/l/_j3JtUebxYqS6
https://dl.doubtnut.com/l/_WogD0HJM0nO9
https://dl.doubtnut.com/l/_cu6ORUXfEIM0


58. The lines

 are

coplanar, if

A. k=3 or -3

B. k=0 or -1

C. k=1 or -1

D. k=0 or -3

Answer: D

Watch Video Solution

= = and = =
x − 2

1

y − 3

1
z − 4

−k

x − 1

k

y − 4

2

z − 5

1

59. If planes  and 

pass through a straight line then 

A. 

B. 

x − cy − bz = 0, cx − y + az = 0 bx + ay − z = 0

a2 + b2 + c2 =

1 − abc

abc − 1

https://dl.doubtnut.com/l/_cu6ORUXfEIM0
https://dl.doubtnut.com/l/_p6wIvPzLCn5X


C. 

D. 

Answer: C

Watch Video Solution

1 − 2abc

2abc − 1

60. IF for a plane the intercepts on the coordinate axes are 8,4,4 then

the length of the perpendicular from the origin on to the plane is (A) 

(B)  (C)  (D) 

A. 

B. 

C. 3

D. 

Answer: A

Watch Video Solution

8

3
3

8
3

4
3

8

3

3

8

4
3

https://dl.doubtnut.com/l/_p6wIvPzLCn5X
https://dl.doubtnut.com/l/_2jmKrS15aRNJ


61. Two system of rectangular axes have the same origin. If a plane cuts

them at distance  from the origin, then:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a, b, c and a' , b' , c'

+ + − − − = 0
1

a2

1

b2

1

c2

1

a'2

1

b'2

1

c'2

+ + + + + = 0
1

a2

1

b2

1

c2

1

a'2

1

b'2

1

c'2

+ − + + − = 0
1

a2

1

b2

1

c2

1

a'2

1

b'2

1

c'2

− − + − − = 0
1

a2

1

b2

1

c2

1

a'2

1

b'2

1

c'2

62. The perpendicular distance of the point 
from xy-plane is
a.

8 b. 7 c. 6 d. 10

A. 8

B. 7

P (6, 7, 8)

https://dl.doubtnut.com/l/_2jmKrS15aRNJ
https://dl.doubtnut.com/l/_qil2LCofoUlw
https://dl.doubtnut.com/l/_KpvIKYeDlFcn


C. 6

D. 5

Answer: A

Watch Video Solution

63. Length of the perpendicular form the point (-6,2,3) on the plane 3x-

6y+2z+10=0 is

A. 2

B. 

C. 

D. 

Answer: A

View Text Solution

13

7

10

7

8

7

https://dl.doubtnut.com/l/_KpvIKYeDlFcn
https://dl.doubtnut.com/l/_ZovxDy8v6yVp
https://dl.doubtnut.com/l/_CtvdJWezgSk0


64. If the distance of points  from the plane 

 is 5 units, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 î + 3t̂ j + λk̂

r ⋅ (3 î + 2ĵ + 6k̂) = 13 λ =

6, −
17
3

6,
17
3

−6, −
17
3

−6,
17
3

65. The distance between (2,1,0) and 2x+y+2z+5=0 is

A. 10

B. 

C. 

10

3

10

9

https://dl.doubtnut.com/l/_CtvdJWezgSk0
https://dl.doubtnut.com/l/_CGE5TjC8HDRy


D. 5

Answer: B

Watch Video Solution

66. The distance of the point 
 from the plane passing

through the point 
having normal perpendicular to both

the lines



(2) 
(3) 
(4) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1, 3, − 7)

(1, − 1, − 1),

= = and = = is :
x − 1

1

y + 2

−2
z − 4

3

x − 2

2

y + 1

−1
z + 7
−1

5

√83

10

√74

20

√74

10

√83

10

√74
20

√74
10

√83

5

√83

https://dl.doubtnut.com/l/_CGE5TjC8HDRy
https://dl.doubtnut.com/l/_hTyOmDB3Ycpb


67. A plane is at a distance of 5 units form the origin and perpendicular

to the vector . The equation of the plane is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 î + ĵ + 2k̂

r̄. (2 î + ĵ − 2k̂) = 15

r̄. (2 î + ĵ − k̂) = 15

r̄. (2 î + ĵ + 2k̂) = 15

r̄. ( î + ĵ + 2k̂) = 15

68. If the length of perpendicular drawn from origin on a plane is 7 units

and its direction ratios are  then that plane is

A. 

B. 

−3, 2, 6,

−3x + 2y + 6z − 7 = 0

−3x + 2y + 6z − 49 = 0

https://dl.doubtnut.com/l/_hTyOmDB3Ycpb
https://dl.doubtnut.com/l/_20mdawzJnzo9
https://dl.doubtnut.com/l/_XINiLLhQwU0M


C. 

D. 

Answer: B

Watch Video Solution

3x − 2y + 6z + 7 = 0

−3x + 2y − 6z − 49 = 0

69. A plane passes through (1,-2,1) and is perpendicular to two planes 2x-

2y+z=0 and x-y+2z=4. The distance of the plane form the point (1,2,2) is

A. 0

B. 1

C. 

D. 

Answer: D

View Text Solution

√2

2√2

https://dl.doubtnut.com/l/_XINiLLhQwU0M
https://dl.doubtnut.com/l/_ZEYozEQHY7fk
https://dl.doubtnut.com/l/_q4uT3D3kMJsu


70. If  is the line of intersection of the planes 

 and  is the line of the intersection of the planes 

 then the distance of the

origin from the plane containing the lines  and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

L1 2x − 2y + 3x − 2 = 0

x − y + z + 1 = 0 L2

x + 2y − z − 3 = 0 3x − y + 2z − 1 = 0

L1 L2

1

3√2

1

2√2

1

√2

1

4√2

71. The equation of a plane passing through the line of intersection of

the planes x+2y+3z = 2 and x y + z = 3 and at a distance 2 3 from the

point (3, 1, 1) is (A) 5x 11y + z = 17 (B) 2x y 3 2 1 (C) x + y + z = 3 (D) x 2y 1 2

https://dl.doubtnut.com/l/_q4uT3D3kMJsu
https://dl.doubtnut.com/l/_RKTuEDEfDhhv


A. 5x-11y+z=17

B. 

C. 

D. 

Answer: A

Watch Video Solution

√2 + y = 3√2 − 1

x + y + z = √3

x − √2y = 1 − √2

72. The point A(-1,3,0), B(2,2,1) and C(1,1,3) determine a plane. The distance

from the plane to the point D(5,7,8) is

A. 

B. 

C. 

D. 

Answer: A

√66

√71

(√73

√76

https://dl.doubtnut.com/l/_RKTuEDEfDhhv
https://dl.doubtnut.com/l/_SX6DU5uetO0x


View Text Solution

73. Distance between two parallel planes

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x + y + 2z = 8 and 4x + 2y + 4z + 5 = 0

9

2

5

2

7
2

3

2

74. In a three-dimensional 
 space , the equation 

represents
a.
Points b. planes c. curves d. pair of straight lines

A. points

xyz x2 − 5x + 6 = 0

https://dl.doubtnut.com/l/_SX6DU5uetO0x
https://dl.doubtnut.com/l/_wZitd8sUR5SO
https://dl.doubtnut.com/l/_1rhMtT4Yddum


B. plane

C. curves

D. pair of straight lines

Answer: B

Watch Video Solution

75. The plane  meets the co-ordinate axes in A,B,C. The

centroid of the triangle ABC is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

+ + = 3
x

a

y

b

z

c

( , , )
a

3
b

3
c

3

( , , )
3

a

3

b

3

c

( , , )
1

a

1

b

1

c

(a, b, c)

https://dl.doubtnut.com/l/_1rhMtT4Yddum
https://dl.doubtnut.com/l/_1wFgQv4paMhQ


76. A plane cuts the coordinate axes X,Y,Z at A,B,C respectively such that

the centroid of the  is (6,6,3). Then the equation of that plane is

A. x+y+z-6=0

B. x+2y+z-18=0

C. 2x+y+z-18=0

D. x+y+2z-18=0

Answer: D

View Text Solution

△ ABC

77. Plane ax+by+cz=1 intersect axes in A,B,C respectively. If

 is the centroid of , then ………….

A. 

B. 4

G( , − , 1)
1

6

1

3
△ ABC a + b + 3c =

4
3

https://dl.doubtnut.com/l/_1wFgQv4paMhQ
https://dl.doubtnut.com/l/_KbAbndQLwQs1
https://dl.doubtnut.com/l/_ygSCNnCkpa0e


C. 2

D. 

Answer: C

View Text Solution

5

6

78. Let a,b, and c be three real numbers satistying

 If the point  with reference to

(E), lies on the plane , the the value of  is (A) 0

(B) 12 (C) 7 (D) 6

A. 0

B. 12

C. 7

D. 6

Answer: D

[a, b, c]
⎡
⎢
⎣

1 9 7

8 2 7

7 3 7

⎤
⎥
⎦

= [0, 0, 0] P (a, b, c)

2x + y + z = 1 7a + b + c

https://dl.doubtnut.com/l/_ygSCNnCkpa0e
https://dl.doubtnut.com/l/_o6r7jKy5tyJD


Watch Video Solution

79. The equation of the plane containing the line

 and parallel to the plane 

, is

A. 2x+6y+12z=13

B. x+3y+6z= -7

C. x+3y+6z=7

D. 2x+6y+12z= -13

Answer: C

Watch Video Solution

2x − 5y + z = 3, x + y + 4z = 5

x + 3y + 6z = 1

80. The point of intersection of the line  and the

plane 2x+3y+z=0 is

= =
x

1

y − 1

2

z + 2

3

https://dl.doubtnut.com/l/_o6r7jKy5tyJD
https://dl.doubtnut.com/l/_8wI6I5aWGypS
https://dl.doubtnut.com/l/_TDrrlwFcgyp8


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(0, 1, − 2)

(1, 2, 3)

( − 1, 9, − 25)

( , , )
−1

11

9

11

−25

11

81. The co-ordinate of the point where the line

 meets the plane x+y+z=3 are

A. (2,1,0)

B. 

C. 

D. 

Answer: D

= =
x − 6

−1

y + 1

0

z + 3

4

(7, − 1, − 7)

(1, 2, − 6)

(5, − 1, 1)

https://dl.doubtnut.com/l/_TDrrlwFcgyp8
https://dl.doubtnut.com/l/_QyLw2Ln6QpNs


Watch Video Solution

82. The point of intersection of the line  and

the plane , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 1

3

y + 2

4

z − 3

−2

2x − y + 3z − 1 = 0

(10, − 10, 3)

(10, 10, 3)

( − 10, 10, 3)

( − 10, − 10, − 3)

83. which of the following points is on the line of intersection of planes

? (A)  (B)  (C)  (D) x = 3z − 4, y = 2z − 3 (4, 3, 0) ( − 3, − 4, 0) (3, 2, 1)

( − 4, − 3, 0)

https://dl.doubtnut.com/l/_QyLw2Ln6QpNs
https://dl.doubtnut.com/l/_DTGPE2FbkFte
https://dl.doubtnut.com/l/_WlS0ih8ziPGZ


A. (4,3,0)

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − 3, − 4, 0)

(3, 2, 1)

( − 4, − 3, 0)

84. The
distance of the point (1, 0, 2) from the point of intersection of

the line 
 and the plane x y + z = 16, is :
 (1) 


(2) 8 (3) 
(4) 27

A. 

B. 8

C. 

D. 13

= =
x − 2

3

y + 1

4

z − 2

12

2√14 3√21

2√14

3√21

https://dl.doubtnut.com/l/_WlS0ih8ziPGZ
https://dl.doubtnut.com/l/_Ufk3FZ2GwPCj


Answer: D

Watch Video Solution

85. If the distance of the
 point 
 from the plane 


then the foot of the perpendicular

from 
 to the place is
 a. 
 b. 
 c. 


d. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P (1, − 2, 1)

x + 2y − 2z = α, whereα > 0, is5,

P ( , , − )
8

3
4
3

7
3

( , − , )
4
3

4
3

1

3

( , , )
1

3

2

3

10

3
( , − , − )

2

3

1

3

5

3

( , , )
8

3
4
3

−7
3

( , , )
4
3

−4
3

1

3

( , , )
1

3

2

3

10

3

( , − , )
2

3

1

3

5

2

https://dl.doubtnut.com/l/_Ufk3FZ2GwPCj
https://dl.doubtnut.com/l/_ETpCOHlPNwcW


86. A point P lies on a line through Q(1,-2,3) and is parallel to the line

. If P lies on the plane 2x+3y-4z+22=0, then segment PQ

equal to

A.  units

B.  units

C. 4 units

D. 5 units

Answer: A

View Text Solution

= =
x

1

y

4
z

5

√42

√32

87. If the image of the point P(1,-2,3) in the plane, 2x+3y-4z+22=0 mesured

parallel to the line,  is Q, then PQ is equal to

A. 

B. 

= =
x

1

y

4
z

5

6√5

3√5

https://dl.doubtnut.com/l/_OlFT8Y2PMnZ2
https://dl.doubtnut.com/l/_tDsObKsCQcJm


C. 

D. 

Answer: C

Watch Video Solution

2√42

√42

88. The length of the projection of the line segment joining the points

(5,-1,4) and (4,-1,3) on the plane x+y+z=7 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

3

1

3

√
2

3

2

√3

https://dl.doubtnut.com/l/_tDsObKsCQcJm
https://dl.doubtnut.com/l/_W5EUUgqRj5FV
https://dl.doubtnut.com/l/_t0wdXhTxk9Tf


Evaluation Test

89. If the three planes  and 

 contain a common line, then  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = 5, 2x − 5ay + 3z − 2 = 0

3bx + y − 3z = 0 (a, b)

( − , )
1

5

8

15

( , − )
1

5

8

15

( − , )
8

15

1

5

( , − )
8

15

1

5

1. If the planes

 pass through

a line, then the value of  is

x − cy − bz = 0, cx − y + az = 0 and bx + ay − z = 0

a2 + b2 + c2 + 2abc

https://dl.doubtnut.com/l/_t0wdXhTxk9Tf
https://dl.doubtnut.com/l/_8nA6PpImN7q6


A. 0

B. 1

C. 

D. None of these

Answer: B

Watch Video Solution

−1

2. A variable plane moves so that the sum of the reciprocals of its

intercepts on the coordinate axes is . Then, the plane passes

through the point

A. 

B. 

C. (2,2,2)

D. (0,0,0)

(1/2)

( , , − )
1

2

1

2

1

2

( − 1, 1, 1)

https://dl.doubtnut.com/l/_8nA6PpImN7q6
https://dl.doubtnut.com/l/_uuWiBYulnoAi


Answer: C

Watch Video Solution

3. If  are the

equations of a line and plane respectively, then which of the following is

truwe?

A. The line is perpendicular to the plane

B. The line lies in the plane

C. The line is parallel to the plane but doesn't lie in the plane.

D. The line cuts the plane obliquely.

Answer: B

View Text Solution

r̄ = î + ĵ + λ(2 î + ĵ + 4k̂)  and r̄ ⋅ ( î + 2ĵ − k̂) = 3

https://dl.doubtnut.com/l/_uuWiBYulnoAi
https://dl.doubtnut.com/l/_N2hhQHhrGnEW


4. The distance from the line  to

the plane  is . Then 

A. 1

B. 2

C. 3

D. 4

Answer: D

View Text Solution

x = 2 + t, y = 1 + t, z = − − t
1

2

1

2

x + 2y + 6z = 10
λ

√μ
5λ − μ =

5. If  is the angle between the lines in which the planes 3x-7y-5z=1 and

5x-13y+3z+2=0 cuts the plane 8x-11y+2z=0, then  is

A. 

B. 

θ

sin θ

1

2

1

√2

https://dl.doubtnut.com/l/_5A4NVuOw3Dik
https://dl.doubtnut.com/l/_rViszRYWUXY6


C. 

D. 1

Answer: D

View Text Solution

√3

2

6. The plane  passes through the intersection

of the plane

A. 2x-y=0 and y+3z=0

B. 2x-y=0 and y-3z=0

C. 2x+3x=0 and y=0

D. None of these

Answer: B

Watch Video Solution

2x − (1 + λ)y + 3λz = 0

https://dl.doubtnut.com/l/_rViszRYWUXY6
https://dl.doubtnut.com/l/_Hah6YB8lxWPT
https://dl.doubtnut.com/l/_D3R0zaKw0HNv


7. The reflectionof thepoint (2,-1,3) 3x-2y-z=9

(28/7,15/7,17/7) (26/7,-15/7,17/7) 15/7,26/,-17/7) (D) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∈ thela ≠ is(A)

(B) (C) ( , , −
26

7
17
7

15

70

( , , )
26

7

15

7

17

7

( , − , )
26

7

15

7

17

7

( , , − )
15

7

26

7

17

7

( , , − )
26

7

17

7

15

7

8. The vectors  determine one plane and the vectors 

determine another plane. If the planes are parallel, then

A. 

B. 

C. 

ā  and b̄ c̄  and d̄

(ā × c̄) × (b̄ × d̄ ) = 0̄

(ā × c̄) ⋅ (b̄ × d̄ ) = 0̄

(ā × b̄) × (c̄ × d̄ ) = 0̄

https://dl.doubtnut.com/l/_D3R0zaKw0HNv
https://dl.doubtnut.com/l/_gddcFfMvjEKf


D. 

Answer: C

Watch Video Solution

(ā × b̄) ⋅ (c̄ × d̄ ) = 0̄

9. If the distance between the plane  the plane

containing the lines

 is , then

|d| is equal to….

A. 3

B. 4

C. 5

D. 6

Answer: D

Watch Video Solution

Ax − 2y + z = d and

= = and = =
x − 1

2

y − 2

3

z − 3

4

x − 2

3

y − 3

4
z − 4

5
√6

https://dl.doubtnut.com/l/_gddcFfMvjEKf
https://dl.doubtnut.com/l/_cBzIsDxb7DsC


10. A line with positive direction cosines passes through the point P(2, –

1, 2) and makes equal angles with the
 coordinate axes. The line meets

the plane 2x + y + z = 9 at point Q. The length of the line segment PQ

equals

A. 1

B. 

C. 

D. 2

Answer: C

Watch Video Solution

√2

√3

11. A variable plane at a distance of 1 unit from the origin cuts the axes at

A, B and C. If the centroid  of  satisfies the relation 

 then the value of K is

D(x, y, z) △ ABC

+ + = K,
1

x2

1

y2

1

z2

https://dl.doubtnut.com/l/_cBzIsDxb7DsC
https://dl.doubtnut.com/l/_1pZw8Bq9YsOd
https://dl.doubtnut.com/l/_0TZOD5Lx9JPc


A. 9

B. 3

C. 1

D. 

Answer: A

Watch Video Solution

1

3

12. A tetrahedron has vertices O(0,0,0), A(1,2,1), B(2,1,3) and C(-1,1,2). Then

the angle between the faces OAB and ABC is

A. 

B. 

C. 

D. 

Answer: D

cos − 1( )
17
31

30∘

90∘

cos − 1( )
19

35

https://dl.doubtnut.com/l/_0TZOD5Lx9JPc
https://dl.doubtnut.com/l/_msaKYjgZ1Iw6


Watch Video Solution

13. The volume of the tetrahedron included between the plane

 and the co-odinate planes is

A. 60

B. 600

C. 720

D. None of these

Answer: B

Watch Video Solution

3x + 4y − 5z − 60 = 0

14. The lines

 are

coplanar, if

= = and = =
x − 2

1

y − 3

1
z − 4

−k

x − 1

k

y − 4

2

z − 5

1

https://dl.doubtnut.com/l/_msaKYjgZ1Iw6
https://dl.doubtnut.com/l/_wURFpIxhZ7pw
https://dl.doubtnut.com/l/_XuYFo79yWyyN


A. k=0 or -1

B. k=0 or 1

C. k=0 or -3

D. k=3 or -3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XuYFo79yWyyN

